1. sin(90°-A) = % A ], tan A ©] ZH-& Fstol=t (H,0° <A <90°)

> S
=%



7k ABC oA o5

}

(s} nf
r o
R

ol
e
Y
ojn o
T Ne

TA

N

10
LAy
10

@ sinA
@ cos A



o)1, BC 7} 4cm

N

T 22 A7 ABC oA sin A

ojn

d o, AC 9] Hol&?

@ 6cm ® 8cm @ 9cm ® 12cm

@ 4cm



4. cosA=- 4 M, sinAd+tanA 9] F2? (F, 0°<A<90°)

] w

@Lﬁ 57 ®7\/7 57 ©7\/7

4 4 4 12 12



=

oo
S

T w4 9= A2

@ sin0° =0, sin90° =1 @ cos0° =1, cos90° =0

@ sin45° = cos45°
sin 30°
cos 30°

@ tan0° =0, tan45° =1

= tan 60°



6.

===
o, ¥ 0 9

@ 2cm

@ 8cm

A
ks

BC =8cm , /B =60° ¥
259 dol&=?

@ 4cm ® 6cm

® 10cm




7. U 1YmE RN ALY VL7 & x, a Y AVE Yy H T,
x+y 9 #= F5tH?

D 16 @ 31 ® 46 @ 61 ® 91



8.

ohe 19 9] AABC oA AFZt

H|o) & Hilg 9 &

T sin x cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724

o

=25



& 189 gABCD ©A /BAC =
/ADC = 90° o], BC = 8cm ¥ ], CD A
o] Zol& st}

Do

60°

B™~--8em---~

b -



7
1 EG

welo] ojzh4
CE 9

in x
o o, sin

g A& x
] ZCEG
o|F o 7 2+

o 3

=7

@ 3a

® V2a

S

<



11.

W25 9] Zo]7F 3ecm Q1 Hof WA=
AABC oA BC =5cm € W, cos A 2]
= -5HH?

oML g3 o Y
@ VI 5 6V




12.

Jd 3 Fol ¥ F9] 4ol
¢ AR Lol A LAOB 7t 40°
A ODABCD ¢ W olE 5t
g, (T, sin40° = 0.64, cos40° =
0.77, tan40° = 0.84 & AAFSIet)




ol

13. (sinA + cosA)? + /(cosA —sinA)? & 19|
A < 45°)

FA? (9,00 <

@ 2sinA @ 2cosA @0
@ 1 ® 2



14. o 233 go] ©H o vkx|F9] Zo]7} A
3cem 0] BAT @Ho] o] 2 Zho] 37
7} 60 ]l fEe] Ful5 57

® 6V2rcm? @ 7V3rcm? ® 9vV3rcm?

@ 11vV2rem? ® 27mcm3



15. ot 283 72 HgHA A HG = FG = A D
5cm , (BHF = 30° & off, o] 2]8HA| 2] &

L C
=9 '
|
E, 30 H
s 5Icm
F 5¢cm- "G
256 125 V6 125 V6
@ 3\/_ Cm3 @ 3\/_ cm3 @ 2\/_ Cm3

@ 68V6cm? ® 125V6 cm3



16.

5 27 A, C Aolo] Aelg etohiz]
98] 0. 8% 1wt o] ZHshArt.
% A7 A, C Aol9] A E Fote]
e

B on

50m




17. o2 AABC oA A = 45°, /B = 75°,
AB = 12cm ¥ o, BC ¢] do]& F5}o]
e},




18.

oS 12819 AABC oA ol h &
SHH?

@D 25 @ 43 ® 5v3

A
1]
.II
R
30° 160N A
B . i.C
PP
@ 35 ® 52



19.

th2 13 9] AABC ©[ A AH 9] Zo] A

=7

~-50---"

@ 25(V3-1) @ 25(3- V3) ® 25V3-1
@ 50V3-1 ® 50V3 41



cm



21. v 2B g2 44% ABCO HWole? A

@® 15V3 @ 16V3 ® 18V3
@ 20V3  ©® 22V3 R >




22. & 193 ge A
ABCD 9] ¥lo]=9
@D 303 @ 313
® 323 @ 3343
® 343

7}

%




23. The ARl ol Fofoer, A o

N

S
120°




24. the 1Yol Awe] SA02 A 9| URt R A 2wt 30°
o] k2 o] 2A Hgith. o] uf, 4G L] ol ?

@D 443 @ 83 ® 12V3 @ 16vV3 ® 2043



25. & 1T 22 0ABCD 9] Wole?

D
A S
6\cm
BAﬁ =
~~8cm- "~
@ 6V3cm? @ 8+v3cm?

@ 143 cm? ® 16V3cm?

® 12V3cm?



